UNIVERSITY OF NORTH BENGAL
B.A. Programme 6th Semester Examination, 2024

GE1-P2-PHILOSOPHY

Time Allotted: 2 Hours Full Marks: 60
The figures in the margin indicate full marks.

SECTION-I / Reii-% / @ve-®

1. Answer any four questions of the following: 3x4=12

fafee @-in o1afe alvis T wiss
et RgT T TN e SR Rgerd —

(a) What does sp # 0 mean? 3
sp = 0 FETCo & @R 9 '
Sp # 0 T 37ef FASTERY |

(b) What is called fallacy of illicit major in the categorical Syllogism? 3
TSCor 1 ST SRaY HiY (X PP 0T 9
YRR JE&-T8 S H1et & 0 2

(c) What is existential fallacy? 3
TG IpF (I IE1CS 1% @R 2
RTeT SIY HATel 6 Yf3FD ?

(d) What is obversion? Obvert the following proposition. ’ 1+2

All that glitters is not gold.

e 3 ¢ Rl eaiee Rafee 741
HFE HFHCE I8 3 G
R 35 2 2 ST ST R TR —
e (T eSS G g
(e) What is copula? Answer with an example. 3
IS [ ¢ Grzger @)
DY P 1.2 ITERT TR IR |
(6) What is contraposition? Answer with an example. 3

TR T 2 BArZAerTR St 41
TG 3 21 2 IRV AR TSR |

SECTION-II / et / v

2. Answer any four questions from the following: 6x4 =24
fRfeiRe @-F 51Afs alvds Tus ates
ol R 1 FIvaer THEwa! ST e —
(a) Distinguish between good and bad analogy. 6
Il @ W BANRF T T 2N F9)
HEY ISR ¥ Tl HIGLGHT YRt FR=TaT Sareq & |
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(b) Distinguish between deductive and inductive arguments with example.
BRIZHEPTR BRI €K SCIE 367 e Ay 971
[T TH ¥ o] NTHATCHD gl%ﬁrn §ﬁ' fo=Ten S5y lij'g’R:[l

(¢) Determine the validity or invalidity of the following arguments with the help of
Syllogistic rules:
(i) EAO-4th Figure
(i) Ram is dishonest and he is coward so all dishonest are coward.
e Syt e gl iR 3R et @ siwae! Rl s
(i) EAO-59Ew3N
(if) 31 2 SPTY G T 174 SR FoeT iy < 2 loje|
g PR SR Refifed o aeaeeer dudr off avar o
TR —
() EAO- (3l fiR) 4th Figure
(ii) memsma T T P SO 56 |
(d) What is conversion? Why ‘O’ proposition can not be converted?
ISR {5 ¢ <O’ I5T SR TG T @ 9
ST P & 2 oot O ThaTaIaDT S1Terei 57 T 2
(e) Use truth table to determine the following statements form as tautology, self
contradictory or contingent:

@ (pva=[(p-q9>1]
() p=[q-(~pv~q)]
HOPARAR AR T2, Fos R, St e ek w22
D (v =[(p-q 1]
(i) p=[q-(~pv~q)]
G IR JMeRET fFrefoRad aharaaesar 3T (tautology), T feRIemTsY
(self contradictory) ¥ 3TehRTa (contingent) T TR —
@ (pva=[(p-q)>r1]
(i) p=[q-(~pv~q)]

(f) Distinguish between mediate and immediate inference.
WIS R ST SPitas We&y 20FT 41
ATEITE] ST HETRT ST ey R S ey |

SECTION-III / f[Fsin-ot / woe-T

3 Answer any two questions from the following:
fseiRe - 78 e Gy mes
A Fvel gt 57 et S RveRy —
(a) What do you mean by ‘Distribution of term’? Which terms are distributed in A,
E, I, O propositions? Discuss.
P A1 A0S 5 (@RI 2 A, E, 1, O I00-1 (RO GBI GFIAT 47 <191 O SeAloe 3
IS =Tl S IREG 2 AL E, 1, O AT 7 Tfe U< UTH &5 T8 YR |

(b) Explain the traditional square of opposition of propositions with examples.
2vfere ﬁ_@T&l TRUEH BRIRETE 7R 91|
STEROER IRRFTE faRrer-af Y weariene e |
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12x2 =24

4+8
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(c) Determine the validity or invalidity of the following argument with the help of

(d) Use truth table to determine the validity or invalidity of the following arguments:

6097

Venn diagram:

(1) EAE-1st figure

(i) EIO-3rd figure

(iii) He must be hedonist because he seeks pleasure.

oo Ffeefm cenia it taue! uer wiae! fdf a3

(i) EAE-&RS I

(ii) EIO-$OR WE

(iti) 1 63 I @t T HY A |

T STITY AT 1 FeAforRaeT gfaaeny Serd ¥ arderer frafeor TRy —

(i) EAE-I1st figure
(i) EIO-3rd figure
(iii) ST ATt g7 1o S+ gaft wrevm |

@O (pve>(~pvy
~(~pvq
N A))

(i) ®P>9v(~q>p)
~P>9
~(~q>p)

ey A ARG PR IRee R et e St i s

O @PvY>(~pvy

~(~pvq

~(pva)
(i) (p>9v(~q>p)

~(P>9q)

M (~q>p)

wwﬁvﬁaﬁmﬁwﬁﬁagmﬁmaﬁaﬁwﬁuﬁwm—
(@) ((pv@) 2(~pvQ)

~(~pvq
(v
(i) (p>q)v(~q>p)
~(p>q)
S (~q>p)
X.
3

3x4 =12

6+6



